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We have Week 7 lectures

04103 (Monday) 16-18
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By a non-negativeinteger ,
I mean an integer -0

By positive integer

I mean - - >0

By a -negativeinteger

I mean-11- <O

Proposition1 Let a and to be
-

integers .















Note that I'm only talking about

"O divices O" and not about
Il

"Do
.

Example
- a

Every integer , including O , divicles 0 .

0 = a . 0

F =

Bet Let a & b be integers.

#commondivisor of a so





Her St
:

Examples a= 12 b= 18
-

gcd (12 , 18) = 6

a = 12 b= 18

g(d) 12 .
- 18) = 6

If a is a man-negative integer,

gcd(a , 01 = a
↑

This requires a proof :

# Any common divisor of a s b
dividesacd(a , b).





sck)-78
, 1987 = 6

( Recall a ,
b $ by

a = bq+ r
or<b

- 78 = 198 . (- 1) + 120

198 = 120 . 1 + 78

10 = 78 . 1 + 42

78 = 42 - 1 + 36

42 = 36 - 1 + 6&.
36 = 6 . 6 + 0



This Euclid's algorithm is
based on the following statement :

Prop6 Let &S b be integers
--

Suppose b > 0

sa = bq + r
orb

Then gck(a .
b) = g(d)b .

+
Sad (198 . 787

Recall 198 = 78 . 2 + 42

By Prp6 ,
Sck) 198 , 781 = scd(78 , 42)












